41

For the version without covering,
please contact:sales@alorair. com

N
o

43 A1-A6 fence row seat DWABOPDQO08 Rj45 length40CM 1

42 Network connection wire DWAB0PDQO7 Rj45 length30CM 1 3

41 pipe air inlet board DWABOPWJ17 galvanizedsheet 1 : 30

40 front cover board DWAG60PWJ03 galvanizedsheet 1 é/

39 conducting bar DWABOPWJ04 galvanizedsheet 1

38 G3 filter DWABOPWJ16 43922511 alumnium frgme 1 19 | main control board DWASOPDQO3 PcB !
37 right side boar DWAG0PWJ08 galvanizedsheet 1 18 bolt standard component M4 8
36 left side board DWAG0PWJ07 galvanizedsheet 1 17 handle DWABOPWJ14 double-hole base 52068 2
35 nut standard component M8 3 16 main body DWABOPWJO1 galvanizedsheet 1
34 gasket standard component 223*@8.5 3 15 wind turbine capacitor DWAB0PDQ09 8uf/250V 1
33 sleeve standard component 28.5XD10.5X40 3 14 exchanger cover board DWABOPWJ06 galvanized sheet 1
32 compressor foor pad standard component rubber 1 13 cool and heat exchanger DWA60PXTO1 component 1
31 bolt standard component M8*55 3 12 air exhaust pipe DWAB0PXT02 TP2Y2@6X0.6 1
30 foot pad DWAGOPWI15 MG @25 7 11 air return pipe DWAGOPXTO3 TP2Y2@6X0.6 1
29 chassis DWAGOPWJ05 galvanizedsheet 1 10 airdeflector DWAB0PWJ10 galvanized sheet 1
28 hinge DHA16LWJ15 2 inches 2 9 nut standard component M8 1
27 compressor 39A1J3A-A&T4KA component 1 8 gasket standard component 223'8.5 1
26 pressing line base DHA16LSJ14 flame retardant ABS 1 7 wind wheel DHMS0LWJ23 component 1
25 pressing line cover DHA16LSJ13 flame retardant ABS 1 6 volute DWAGBOPW.J1 galvanized sheet 1
24 water collector DWA60PSJ01 PP 1 5 motor DWABOPDQ06 :;Zlﬁg::ijﬁol)\;om) ]
= umidly sensor DWASOPDAo S10 ! 4 back cover board DWAB0PWJ02 galvanized sheet 1
22 electric control box DWA60PWJ09 galvanizedsheet 1 3 display operating panel DWAGOPDQOT ooB ;
2 A . DWA90PWJ07 galvanizedsheet 1 2 plastic door holder DHA16LSJ12 Pa6 1
20 compressor capacitor DWA60PDQ10 35uf/250V - 1 1 control panel DWAB0PSJ02 ABS 1
No. Name Model Material Quantity | No. Name Model Material Quantity

Restoration&Moisture &Ventilation

ALORAIR

———— 7 A
—_—— =
e

Sentinel HD55S




